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Improvement [%] Improvement [%]

Improvement [%]

50 100
|

-100 0 50 100 -100 0
|

100
!

50

— VSt
-=- V82

+15 +60 +120

Lead Time [min]

Area

+15 +60
Lead Time [min]

Area

— Vst
- V82

— = e e

+15 +60 +120

Lead Time [min]

Improvement [%] Improvement [%]

Improvement [%]

50 100

50 100 -100 0 50 100 -100 0

0

-100

Intensity

2

€

(0]

£

(0]

>

o

g

— VS1| =
.= VS2
+15 +60 +120

Lead Time [min]

Nowcast Time:

Intensity

2
T
(0]
&
(O]
>
o
£
— VSi1 —

= VS2

+15 +60 +120

Lead Time [min]
Nowcast Time:

Intensity

Improvement [%]

+120

+15 +60
Lead Time [min]

Nowcast Time:

Velocity X

o
o
o
Te}
o

1 — VSt
5.. .= VS2
! +15 +60 +120

Lead Time [min]

5m e 15m e 30m

Velocity X

100

50

0

-100

+15 +60
Lead Time [min]

Velocity X

100
!

— Vst
= V82

50

o
o
il

+15 +60
Lead Time [min]

+120

Improvement [%] Improvement [%]

Improvement [%]

50 100 -100 0 50 100

0

-100

100

-100

Velocity Y

— VSt
-=- V82

+15 +60 +120

Lead Time [min]

Velocity Y

+15 +60
Lead Time [min]

Velocity Y

+15 +60 +120

Lead Time [min]





